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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJXNXU� WLQJNDW� OLWHUDVL� NHXDQJDQ� SDGD�
JHQHUDVL�PXGD��PHQJDQDOLVLV�SHUEHGDDQ�SHUVHSVL�UHDOLWD�WHUKDGDS�OLWHUDVL�NHXDQJDQ�
JHQHUDVL�PXGD��VHUWD�PHQJDQDOLVLV�SHUEHGDDQ�WLQJNDW�OLWHUDVL�NHXDQJDQ�GL�NDODQJDQ�
JHQHUDVL� PXGD� NRWD� 3DGDQJ� EHUGDVDUNDQ� IDNWRU� GHPRJUDIL�� 3RSXODVL� GL� GDODP�
SHQHOLWLDQ� LQL� DGDODK� VHPXD� JHQHUDVL� PXGD� NRWD� 3DGDQJ�� 7HNQLN� SHQJDPELODQ�
VDPSHO� GDODP� SHQHOLWLDQ� LQL� \DLWX� PHQJJXQDNDQ� WHNQLN� SXUSRVLYH� VDPSOLQJ
GHQJDQ�WRWDO�VDPSHO�����RUDQJ��'DWD�\DQJ�GLJXQDNDQ�DGDODK GDWD�SULPHU��0HWRGH�
DQDOLVLV� GDWD� \DQJ�GLJXQDNDQ� DGDODK�$QDOLVLV�$QRYD�GDQ�8ML� %HGD�%HUSDVDQJDQ�
�3DLUHG�6DPSOH�W�7HVW��GHQJDQ�PHQJJXQDNDQ�,%0�6366�YHUVL�����+DVLO�SHQHOLWLDQ�
LQL�PHQXQMXNNDQ�����7LQJNDW�OLWHUDVL�NHXDQJDQ�JHQHUDVL�PXGD�NRWD�3DGDQJ�PDVLK�
EHUDGD�GDODP�NDWHJRUL�\DQJ�UHQGDK ����7HUGDSDW�SHUEHGDDQ�SHUVHSVL�UHDOLWD�OLWHUDVL�
NHXDQJDQ�SDGD�JHQHUDVL�PXGD�NRWD�3DGDQJ�����7HUGDSDW�SHQJDUXK�\DQJ�VLJQLILNDQ�
DQWDUD� YDULDEHO� MHQLV� NHODPLQ�� XVLD�� SURJUDP� VWXGL�� SHNHUMDDQ� GDQ� SHQGDSDWDQ�
WHUKDGDS� WLQJNDW� OLWHUDVL� NHXDQJDQ� SDGD� JHQHUDVL� PXGD� NRWD�3DGDQJ�� 6HGDQJNDQ�
YDULDEHO�SHQGLGLNDQ��WLQJNDW�SHQGLGLNDQ�RUDQJ�WXD�GDQ�SHQGDSDWDQ�RUDQJ�WXD�WLGDN�
PHPSHQJDUXKL�WLQJNDW�OLWHUDVL�NHXDQJDQ�JHQHUDVL�PXGD�NRWD�3DGDQJ��%HUGDVDUNDQ�
KDVLO� SHQHOLWLDQ� SHPDKDPDQ� WHQWDQJ� NHXDQJDQ� JHQHUDVL� PXGD� GL� NRWD� 3DGDQJ�
KDUXV� GLWLQJNDWNDQ� ODJL�� 3HQLQJNDWDQ� WHUVHEXW� GDSDW� GLODNXNDQ� PHODOXL� VHPLQDU�
DWDX�HGXNDVL�NHXDQJDQ�GDUL�OHPEDJD�WHUNDLW��6HUWD�SHUOXQ\D�VLQHUJL�DQWDUD�2WRULWDV�
-DVD� .HXDQJDQ� �2-.�� VHEDJDL� UHJXODWRU� OHPEDJD� SHUEDQNDQ� GDQ� MDVD� NHXDQJDQ�
QRQ�EDQN�XQWXN�PHODNXNDQ�HGXNDVL�PHQJHQDL�NHXDQJDQ�GDQ�MDVD�NHXDQJDQ�
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